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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Winter Examination-2022 

 

Subject Name: Digital Electronics  
 

Subject Code: 2TE03DEL1           Branch: Diploma (CE) 
   

Semester: 3        Date: 22/11/2022   Time: 11:00 To 02:00   Marks: 70 
 

Instructions: 
(1) Use of Programmable calculator & any other electronic instrument is prohibited. 

(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 1)  What is the full form of ASCII? 

a) American System Code for Information Interchange 

b) American Standard Code for Information Interchange 

c) Advanced Standard Case for Information Interchange 

d) American Standard Code for Interactive Information 

 

 2)  What is full form of BCD? 

a) Basic Coded Data                                      b) Binary Coded Decimal  

c) Binary Coded Data                                    d) Byte Coded Data  

 

 3)  What is full form of RAM?  

a) Random Access Memory              b) Read All memory  

c) Read Access memory                    d) Random all memory 

 

 4)  Which of the following logic gate can have only one input? 

a) AND      b) OR        c) XOR            d) NOT 
 

 5)  As per Boolean Algebra A+A’=_______  

a) 1                            b) 0                          c) A’                 d) A  
 

 6)  As per Boolean Algebra A + 0 =_______  

a) 1                            b) 0                          c) A’                 d) A  
 

 7)  As per Boolean Algebra A.A =_______  

a) 1                            b) 0                          c) A                  d) A’   
 

 8)  AB + ABC = _____  

a) ABC                      b) C                         c) 1                   d) AB  
 

 9)  (10)10  =  (       )2 

a) 1011                       b) 1010                   c) 0101                 d) 0010 
 

 10)  1 byte = ___ bits 

a) 1            b) 2              c) 4             d) 8 
 

 11)  Which of the following is a universal gate? 

a) AND                    b) NAND                       c) OR           d) NOT     

 12)  The hexadecimal number ‘A’ has the decimal value equivalent to _____. 

a) 10                     b) 20                       c) 30                  d) 16  
 

 13)  The binary addition 1 + 0 + 1 + 0 = ________. 

a) 101                    b) 110                        c) 010                 d) 100  
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 14)  Flip-flop is an example of _____. 

a) Combinational Circuit           b) Sequential Circuit 

c) Simple Circuit                       d) Serial Circuit  

 

 15)  2- bit data subtraction is done by _____. 

a) Multiplexer        b) Full subtractor      c) Half subtractor       d) None  
 

 16)  (101)2 + (011)2  = (___)10 

a) 7      b) 16        c) 8         d) 112 
 

 17)  Flip-flop can store ____ bit of data.  

a) 1                          b) 2                            c) 4                 d) 8   
 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 a) Discuss 4x1 Multiplexer circuit and its truth table. 07 

 b) State and prove De Morgan's theorems. 07 

Q-3  Attempt all questions (14) 

 a) Describe Universal logic gates. 07 

 b) Write a note on Full subtractor. 07 

Q-4  Attempt all questions (14) 

 a) Explain S-R flip-flop with its circuit diagram and truth table. 07 

 b) Explain full adder circuit with diagram. 07 

Q-5  Attempt all questions (14) 

 a) Minimize the logic function f (A, B, C, D) = Σ (0, 1, 2, 4, 5, 6, 8, 9, 12, 

13, 14) using K- Map method. 

07 

 b) Explain 3 to 8 decoder in detail with diagram and truth table. 07 

Q-6  Attempt all questions (14) 

 a) Write a note on Full Adder. 07 

 b) Explain serial in parallel out shift register. 07 

Q-7  Attempt all questions (14) 

 a) Describe the basic logic gates with their symbols and truth tables. 07 

 b) Explain in detail different types of RAM. 07 

Q-8  Attempt all questions (14) 

 a) Describe K- Map for simplification of Boolean expression. 07 

 b) Simplify using K-Map: f(A,B,C,D) = ∑ (0,1,3,4,7,11) + d (2,4,12)  07 

 

 

Q-1  નીચેના પ્રશ્નોના જળાફ આ઩ો. (14)  

 1)  ASCII ન ું ઩ૂરું નામ ઴ ું છે? 

a) American System Code for Information Interchange 

b) American Standard Code for Information Interchange 

c) Advanced Standard Case for Information Interchange 

d) American Standard Code for Interactive Information 

 

 2)  BCD ન ું ઩ૂરું નામ ઴ ું છે? 

a) Basic Coded Data                                      b) Binary Coded Decimal  

c) Binary Coded Data                                    d) Byte Coded Data  

 

 3)  RAM ન ું ઩ૂરું નામ ઴ ું છે?  

a) Random Access Memory              b) Read All memory  

c) Read Access memory                    d) Random all memory 

 

 4)  નીચેનામાુંથી કયા ઱ોજજક ગેટમાું એક જ ઈન્઩ ટ હોઈ ઴કે?  
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a) AND      b) OR        c) XOR            d) NOT 

 5)  ફૂ઱ીયન એજજજબ્રા મ જફ, A+A’=_______  

a) 1                            b) 0                          c) A’                 d) A  
 

 6)  ફૂ઱ીયન એજજજબ્રા મ જફ, A + 0 =_______  

a) 1                            b) 0                          c) A’                 d) A  
 

 7)  ફૂ઱ીયન એજજજબ્રા મ જફ, A.A =_______  

a) 1                            b) 0                          c) A                  d) A’   
 

 8)  ABC + AB = _____  

a) ABC                      b) C                         c) 1                   d) AB  
 

 9)  (10)10  =  (       )2 

a) 1011                       b) 1010                   c) 0101                 d) 0010 
 

 10)  1 ફાઇટ = ___ ફીટ 

a) 1            b) 2              c) 4             d) 8 
 

 11)  નીચેનામાુંથી કયો ગેટ યૂજનળર્સ઱ ગેટ છે? 

a) AND                    b) NAND                       c) OR           d) NOT     

 12)  હેક્ર્ાડેર્ીમ઱ નુંફર ‘A’ ની ડેર્ીમ઱ ળેજયૂ કેટ઱ી થાય. 

a) 10                     b) 20                       c) 30                  d) 16  
 

 13)  ફાઈનરી એડડ઴ન 1 + 0 + 1 + 0 = ________. 

a) 101                    b) 110                        c) 010                 d) 100  
 

 14)  જલ઱઩-લ઱ો઩ એ ______ ન ું ઉદાહરણ છે. 

a) Combinational Circuit           b) Sequential Circuit 

c) Simple Circuit                       d) Serial Circuit  

 

 15)  2- ફીટ ડેટાની ફાદફાકી ______ ળડે થાય છે. 

a) Multiplexer        b) Full subtractor      c) Half subtractor       d) None  
 

 16)  (101)2 + (011)2  = (___)10 

a) 7      b) 16        c) 8         d) 112 
 

 17)  જલ઱઩-લ઱ો઩ કેટ઱ા ફીટની ળેજયૂ સ્ટોર કરી ઴કે? 

a) 1                          b) 2                            c) 4                 d) 8   
 

Q-2 થી Q-8 માુંથી કોઈ઩ણ ચાર પ્રશ્નોના જળાફ આ઩ો 

Q-2  નીચેના પ્રશ્નોના જળાફ આ઩ો. (14) 

 a) 4x1 મજટીપ્઱ેક્ષર ર્ર્કકટ અને તેન ું ટ્રુથ ટેફ઱ ર્મજાળો. 07 

 b) ડી મોગસનના જર્દધાુંત ઱ખો અને ર્મજાળો. 07 

Q-3  નીચેના પ્રશ્નોના જળાફ આ઩ો. (14) 

 a) યૂજનળર્સ઱ ઱ોજજક ગેટ જળ઴ે ચચાસ કરો. 07 

 b) ફૂ઱ ર્બ્સ્ટસ્રેક્ટર જળસ્તારથી ર્મજાળો. 07 

Q-4  નીચેના પ્રશ્નોના જળાફ આ઩ો. (14) 

 a) S-R જલ઱઩-લ઱ો઩ તેના ર્ર્કકટ ડાયાગ્રામ અને ટ્રુથ ટેફ઱ ર્ાથે ર્મજાળો. 07 

 b) ફૂ઱ એડર ર્ર્કકટ તેના ડાયાગ્રામ ર્ાથે ર્મજાળો 07 

Q-5  નીચેના પ્રશ્નોના જળાફ આ઩ો. (14) 

 a) K- Map ઩દધજત ળડે આ ઱ોજજક પુંક્઴નને જમજનમાઇઝ કરો: f (A, B, C, D) = Σ (0, 1, 

2, 4, 5, 6, 8, 9, 12, 13, 14). 

07 

 b) 3 to 8 ડીકોડરને ડાયાગ્રામ અને ટ્રુથ ટેફ઱ ર્ાથે જળસ્તારથી ર્મજાળો. 07 
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Q-6  નીચેના પ્રશ્નોના જળાફ આ઩ો. (14) 

 a) ફૂ઱ એડર ઩ર ટૂુંક નોંધ ઱ખો. 07 

 b) જર્ડરય઱ ઇન ઩ેરે઱઱ આઉટ જ઴લટ રજીસ્ટર ર્મજાળો. 07 

Q-7  નીચેના પ્રશ્નોના જળાફ આ઩ો. (14) 

 a) ફેજઝક ઱ોજગક ગેટ તેમના જર્મ્ફો઱ અને ટ્રુથ ટેફ઱ ર્ાથે ર્મજાળો. 07 

 b) RAM ના જળજળધ પ્રકારો ર્મજાળો. 07 

Q-8  નીચેના પ્રશ્નોના જળાફ આ઩ો. (14) 

 a) ફૂ઱ીયન એક્ર્પ્રે઴નના ર્રલીકરણ માટ ેK- Map ઩દધજત ઩ર ટૂુંક નોંધ ઱ખો. 07 

 b) K-Map ળડે ર્ાદ ુંરૂ઩ આ઩ો: f(A,B,C,D) = ∑ (0,1,3,4,7,11) + d (2,4,12)  07 

 


